\ A1021 INTERMEDIATE EXAM # 1 A’I67

Section A06 NAME

Print
Point Total 100 (105 with the bonus)

. ) . 2
1. (4 pts) Find the domain of the function f(x)= " et
-x
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3-XF0 omd e 20 = XE3 omd X<3 > %<3,

Go the dormain 5 fix) ix (—p,3)
2. Sketch the graphs of the following functions:

(a) (5 pts) fix)=x°+6 (b) (5pts) f(x)= V16—x* (6 pts) f6) =cotb for —n/2 < O< /2
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3. (Spts) Find flg(x)) and g(Ax)) if Ax)=x*-8 and g(x)=vJx+8.

Uy FO9oxN = [9(x>]z—g:(£>'<+g )1— T=Xt8-9=x%

(2) 9(F<x>):m =x-g+3 =[Ix* =Kl |

4. (16 pts) Find all points of the curve y = (x — 5)2 at which the tangent line is horizontal. (Note: The use of the
congept of derivative is not eligible.)
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5. (6 pts) Determine where the function f(z)=¥3-2z" is continuous. : Hence , 0=l M'S) —(x-x)%

— h
Let §(2)=>*[z omd h(z)=3-23 then $@2)= §h(zy) | o
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6. Evaluate the limits:

Py+a=2 By+e -2 DByryp+e (szw) -2"

(@) (15 pts) lim—— = Lim M—_
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(Note s sl 0, sinl+0, tong =1)
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7. (5 bonu:s' pts) (No_te: Do not address this until you have solved all the problems above!) Sinxff)pl'ify the
expression sin(tan ).

A
Let 0=ton X , then tom(0)= ton(toun )= X .
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